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ACHARYA VIDYA KULA
HALF YEARLY EXAMINATION — DEC/JAN 2018-19
CLASS: IX MAX MARKS: 100
SUBJECT: Economics Applications MAX TIME: 2 HRS
GENERAL INSTRUCTIONS:-

Answers to this paper must be written on the paper provided separately.
You will NOT be allowed to write during first fifteen minutes.
This time is to be spent for reading the question paper.
The time given at the head of this paper is the time allowed for writing the answers.
Write question numbers clearly as given in the question paper.
Read the question carefully and follow the same system of numbering as given in the
question paper. The intended marks for the questions or parts of questions are given in
brackets [ ]
Attempt all questions from section I and any 4 from section II

This question paper contains 2 printed pages

PART-1 [40 Marks]

Attempt all questions from this part

Question 1

a)
b)
c)
d)
e)

Mention two unique features of the growth definition of economics. [2]
Why is the wealth definition of economics said to lay emphasis on ‘Economic Man’? [2]
List four points to highlight the importance of households in an economy. [2]
Explain the Foreign Trade Policy that our government maintains. [2]
Why does an economy face the problem of economizing of resources? [2]

Question 2

What is Production Possibility curve? How does it help an economy? [2]
What is the Consumer Forum in Mysuru called? [2]
In a mixed economy, why is the problem of business cycles less acute than in a market
economy? [2]
Why is India said to have a dualistic economy? [2]
Based on occupation, .what are the three sectors of an economy? [2]

Question 3

a)
b)
c)
d)
e)

How does agriculture sometimes lead to soil erosion? [2]
How do industries pollute the environment ? [2]
Name two methods of waste disposal. [2]
Distinguish between Economic Service and Social Service. [2]
How does the Service Sector help the Primary Sector? [2]
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Question 4

a) Distinguish between Private and Public Sector. [2]

b) On a packaged food item, what does a brown dot stand for? What does a red dot represent? [2]
c) What steps can a consumer adopt to avoid over consumption? [2]

d) What are the functions of AGMARK and BIS ? [2]

e) What are the duties of a Consumer? [2]

Part 11 [60 Marks

Attempt any four Questions from this part

Question 5

a) What are the merits of a Capitalist economy? [7]
b) What do you mean by Consumer Awareness? Explain the rights of a consumer. [8]

Question 6

a) State whether the following statements are ‘True’ or ‘False’ give a reason for your answer. E?J

i) In a Capitalist economy all sections of society will prosper.
i) Aconsumer must collect an official receipt or bill for goods purchased.

iiii) India is a Federal Economy.

iv)  An agriculture economy cannot be a developed economy.

v)  Asecondary producer extracts raw materials from nature.

vi)  The problem of ‘How to produce’ deals with the choice of method of production

vii) _The consumer Protection Act doe§ not cover the Private sector.

Que(s,;%n7l: apleies B ok der Gnderen Sediisged &U@e_m E%:(

a) Why can India be called a developing economy? [71

b) What are the ways in which a consumer can be explained ? [8]
Question 8

a) Discuss the indirect role of the government in an economy. [71

b) What is a socialist economy? What are its demerits? [8]
Question 9

a) What are the causes for low productivity of agriculture in India? [7]

b) “Industrial development and conservation of environment cannot go hand in hand. Write your

view on this. [8]

Question 10

a) What is opportunity cost? Explain with the help of a Production Possibility Schedule.  [7]
b) “Through the Public sector has its drawbacks, it is still important for the public and private
sector to co-exist in India”. Give reasons to support this statement. [8]
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ART PAPER 3
Original Imaginative Composit_ion in Colour.
(Three hours)
This paper is to be given to the candidate one week (seven days) in advance.

Supervising Examiners are requested to ensure that candidates write clearly the
number of the question and their Index Number, on the top right hand comer of
the front surface of the paper. A small area in this corner should be kept clear of

paint for this purpose.

Candidates must be instructed that ruling by any means whatsoever is forbidden.
You are required to make an original composition based on one of the subjects given
below.

Bear in mind that the quality of the composition, Jeeling and originality are the main

objects of this paper.

Before starting work, take note of the following instructions:-

1.

2

You must, on no account, base your composition on any picture you have seen.
Except for the number of the question and your Index Number, you must not write

anything on the front of the picture; but you may write anything you wish to

s’

explain your subject on the back.

Your picture should fill, or approximately fill, your sheet of paper.

The intended marks for questions or parts of questions are given in brackets [ ].
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OUR GRANDFATHER by the sea, blind.

% His deck chair settles our rug on the stones

and his face takes sunlight like thirst. n
We always play games that need speaking; .
each of our cards and moves are told

And he smiles in his taking part.

We are saying our childhood to this old man

and his beautiful face, liver-marked and shy,

has no end in its space, no end in its gentleness,

P2 to hold a whole life of listening left to do.
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ACHARYA VIDYA KULA
HALF YEARLY EXAMINATION - DEC/JAN 2018-19
CLASS: IX MAX MARKS:180
SUBJECT: Commercial Applications MAX TIME: 2 HRS
GENERAL INSTRUCTIONS:-
Answers to this paper must be written on the paper provided separately.
You will NOT be allowed to write during first fifteen minutes.
This time is to be spent for reading the question paper.
The time given at the head of this paper is the time allowed for writing the answers.
Write question numbers clearly as given in the question paper.
Read the question carefully and follow the same system of numbering as given in the
question paper. The intended marks for the questions or parts of questions are given in
brackets [ ]
e Answer all the questions from section I and any 4 from section I

THIS QUESTION PAPER CONTAINS 3PRINTED SHEETS

Section A [ 4o M arks]
(Attempt all questions from this section)

Question 1:

Give one difference each between

a. Large scale industry and small scale industry. (2)
b. Office memo and office circular (2)
c. Formal and Informal communication (2)
d. Revenue and Expense (2)
e. Renewable and non-renewable resources. (2)
Question 2:

a. What do you mean by environmental degradation? (2)
b. What is ledger? (2)
c. What do you mean by aural communication? (2)
d. What is extractive industry? (2)
e. What is marketing research? (2)
Question 3:

" a. Define business finance? (2)
b. State any four impacts of depletion of resources. (2)
c. What is a cash Book? (2)
d. What do you mean by Insurance organisation? (2)
e. Define general administration? (2)
Question 4:

Justify either for or against by giving two reasons for each of the following.

a. Natural resources are unequally distributed all over the world. (2)
b. Capital represents the excess of liabilities over assets. (2)
c. Modern business involves no risk. (2
d. Entrepot trade involves both import and export. (2)
e. Communication is a two-way process. (2)




image2.jpeg
Section B (60 marks)
(Attempt any four questions from the section)

Question 5:

a. Explain the skills required for the effective communication. (5)
b. Discuss the need and relevance of accounting. (5)
c. Explain the branches of commerce. (Any 5) (5)
Question 6:

a. Explain any two functions of the Human Resources department in a large business firm. (5)
b. Explain the main barriers to communication in commercial organisations. (5)
c. Distinguish between Profit making and non-profit making organisation. (5)
Question 7:

a. Discuss the need for departmentation in a commercial organisation. (5)
b. Explain any five advantages of formal communication. (5)
c. Explain the advantages of double entry system. (5)
Question 8:

Write short notes on:-

a. Technological and Industrial Development. (5)
b. Importance of forests. (5)
c. Secondary Industries. (5)
Question 9:

Case Study

Yet another mid-sized company has raised funds through private placement of its equity.
Bilcare (formely Bi Ltd) has raised Rs.18.75 crore ﬂiaugh the first tranche of a private placement,
with Rakesh Jhunjhunwala leading a group of 15 other investors to pick up a 14.97% stake in the
pharma packaging company.

Mohan Bhandari, chaiman, Bilcare, said the need to raise a total of Rs 50 crore was due to

' the company seeking a presence in overseas markets.

"We see a great opportunity in Germany, Singapore, USA and Brazil, where we could set up
on our own or, preferably, with a local partner. We want to replicate the IT model, of providing off-
shore research services and some amount of onsite. As partners, we would prefer to get a materials
or a research company and avoid a pharma company." Mr Bhandari said. Bilcare has shareholder
approval to raise Rs 50 crore through private placement in more than one tranche. The first tranche
will see the promoter group's shareholding reduce from around 65% now to about 55%. The paid-up
capital of the company will raise from Rs 9.50 crore now to over Rs 11 crore.

Questions:

a. Why has Bilcore raised funds through private placement? (5)
b. What is the opportunity before the company? (5)
c. what are the plans of the company regarding mobilsation of funds? (5)
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Questions 10:
Case Study

Steel Authority of India Ltd.(SAIL), Tata Steel and Rastriya Ispat Nigam Ltd. (RINL) will be
going in for a major price increase of over 10%, amounting to Rs 2,500-3,000 per tonne beginning
next month.

The three integrated steel makers have been caught on the wrong foot with new steel
makers like Essar, steel Ispat Industries and Jindal Vijaynagar Steel Ltd. (JVSL) going in for mid-
February price increase of about 15% amounting to Rs 4,000 per tonne of hot -rolled coils (HRCs),
SAIL, Tata steel and RINL controls about 55% of the domestic production while Essar, Ispat and JVSL
have a share of about 20%. The rest is distributed among smaller players.

Officials in the main producers said that the price rise will be necessary to cover the rising cost of
production. prices of raw materials like coking coal, metcoke, scrap or sponge iron nd iron ore have
sky-rocketed over last two months crossing 20-yeg,  highs.

The price rise to be effected by the majors will also correct the imbalance in steel prices in
regional markets. The new players mainly cater to markets in West ad South. This even after taking
into account the 5% duty cut announced by the government on Tuesday. At the same time domestic
steel companies are following international prices with benchmark prices crossing $500 per tonne
(f.0.b), higher than last cyclical boom of 1996-97. Since November 2003, international prices have
moved up by $100-120 per tonne, an increase of 25-30%.

It has been a practice among new steel makeers to follow market leaders like SAIL and Tata
Steel on pricing increase, usually effective on the first day of a month. This time companies like
Essar, Ispat and JVSL did not wait to recover their rising costs. None of the new steel companies have
any captive sources of iron ore and coal.

While SAIL, Tata Steel, Essar, Ispat and JVSL share market intelligency and lobby through a
common platform-the Indian Steel Alliance, the steel makers from the East---SAIL, Tata Steel and
RINL--meet once a month informally to decide prices.

Like the new steel makers, SAIL and RINL are also facing severe pressure from rising input
costs. While SAIL is self-sufficient in iron ore, RINL may have to shell out about Rs 750 crore per
annum on increased coal and ore bill. it is estimated that SAIL may have shell out additional Rs 1500
crore on account of coal price increase and increased dependence on imported coal. Comparatively

' Tata Steel will be hit less since it is self sufficient in iron ore and its dependence on imported coal is
about 25% compared SAIL's level of about 75%.

Question:

a. Why are the steel majors rising prices? (5)
b. What has been the practices among new steel makers? (5)
¢. What should the steel firms do to maintain input costs? (5)
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ACHARYA VIDYA KULA, MYSURU
Half Yearly Examination — Dec-2018/Jan 2019
Standard : IX Computer Applications (Theory) Max. Marks: 100
Time Duration: 2 hours

First 15 minutes is to be spent in reading the question paper. The time given at the head of this paper is the
time allowed for writing the answers. Attempt all questions from Section A and any four from Section B
SECTION — A (40 MARKS)
(ATTEMPT ALL QUESTIONS FROM THIS SECTION).
Question 1. [5x2=10]
a. What do you mean by Encapsulation?

b. What do you mean by Low Level Language?
c. What is the difference between an object and a class ?
d. What do you mean by JVM ?
e. Write about Bluej.
Question 2. [5x2=10]
a. Write the difference between and Integer Literal and a Real Literal with an example each.
b. What do you mean by Ternary Operator? Explain with an example.
c.  Write the difference between Prefix and Postfix operators with an example each.
d. With an example each, explain Logical OR Operator and Logical AND Operator.
e. What are Shorthand Operators? Explain any two Shorthand Operators of Java.
Question 3. [10x 2 =20]
a. Write the corresponding Java expressions for the following Math expression.
i 2-y¥+4y i.P+q/{rs)*
b. What will be the value of j? ifk=20and m=k.
j=-k+2k+m

c. ldentify the errors in the following Java statements.
i. System.out.printin( “ My name is + name)
ii. inta==60, doubleb=70;
d. Write the difference between % and / with an example each.
e. Write the output of the following program segment.
for(m=1;m<=10;m++)
{
Z=m+1;
System.out.printin{ Z +
}
f. What gets printed when the following statements are used in a Java program?
int a=65, b =78;
System.out.printin{ “ the valueis“+a+b);

« «a

+m);

g. Write the output of the following program segment:
intx=0;
for(k =1 ; k >10; k++}
{
x=x+k;
System.out.printin{x);
} This question paper consists of 3 printed pages
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h. Mention any 2 errors that you have encountered while working with Bluej.
i. Find the value of Sum, Iif a=3,b=6;
Sum+= a+b-*a-b;

J. Write the syntax of for loop construct to print the name of your city 5 times in separate lines.
SECTION - B (4 x 15=60 MARKS)

(Answer any 4 full questions from this section)

Question 4. [3x5=15]
a. Write a program to find the value of S. Where S=a” + b* + 2ab
b. Write a program to swap the value ofaand b .
Eg: Input:a=75 b=90
Output : Values after swapping:a=90 andb=75
¢.  Write a program to check whether the given number {n) is a Positive, Negative or a Zero.
Question 5. t:]]

a. Astudent has a name, roll number, class in which studying, and marks in 6 subjects. Design a class for
student. Write a function print the Total, Percentage and Grade as per the criteria given below:

Percentage Grade
>=10% and <= 60 % C
>60% and <=80% B
>80 % A

b. For a password creating team, an extraordinary number was required. The team decided that it would mark
a number as extraordinary if it satisfies any ONE of the following condition : [71

e The number is divisible by 8 but not by 6. Or The number is divisible by 12
Input a number N, and verify whether it can be used as an extraordinary number or not. In case if it is, then

print “The number is extraordinary” and also print from which condition (1% or 2"} it became valid.
otherwise print “The number”.

Question 6. 7

a. Write a program to test whether the given number is Prime or not. Print appropriate messages.
b. Write a program to test whether the given number is a Perfect Number or not. 8l

( A Perfect Number is one, where sum of its factors (except itself) is equal to the given number.
eg:6—p 1+2+3=6)

Question 7. [3x5=15]

a. Write a program to test whether the given number is an Armstrong Number or not.
(Hint : An Armstrong number is one where the sum of the cubes of its digits is equal to the number itself. Eg:
153 =1*+5%+3%=153)
b. Write a program to find the smallest digit in the given number.
Eg: Input: 8097  Output : The smallest digit in the given number is 0
c.  Write a program to find the Sum of the digits of a given number.
Eg: Input: 2345  Qutput : The sum of the digits is 14.
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Question 8. [3x5=15]

a. Write a program to print the following series (Fibonacci Series ) :
0112358...nterms. Accept n from the user.
b. Write a program to print the value of S. Where
1 2 3 n
S= sl oy - Acceptn from the user.
c. Write a program to print the value of sum. Where
Sum=+1-2+4+3-445-6+7-8 ..cc...... n terms. Accept n from the user.
Question 9. [3x5=15]
a. Write a program to find the factorial of a given number.
(Hint : Factorial of a number is the product of all numbers from 1 to itself.
Eg: Input: 4 output: 1x2x3x4=24)
b. Write a program to print the Sum of all numbers from 1 to n using Java loop statement. Accept n from the
user.
e

Write a program to print the multiplication table of any given number (n) in the following format :
Eg:Input: 3 Output: 3x1=3

3x2=6

3x3=9

ek sk ok ok k ok ok




